N2 E[ \//\
T = Eis

fhZe (AR01)

TH4 | RO PIRTMHAR BIR -  SEERE TF RV FRfR) FHEN Sy
THXy
THX 5y - AR - R - A5 Bikk HLAZ K (40D
H R ERE
= 1
T
= 1
FEIRTEIHI L
= 1
F i EAI B LK 5y - SR EIHIEE S - A bAl6c
nEL T (4000m2LA ), BE7E3 0 D i
EIEEAD m2 2,210
s i (% e B FRRERI] AT 7V b
m3 66
ISy TR T AT 7V bk
m3 66
AN VAT
= 1
F g (HLE - IR D) MOEHRRE : B AR BRI EE T A2y (13) , il
=2 30mm, SEANE & 3. OmiR
m2 2,210
G an
= 1
AT AE BT
= 1
A2 E A B
B ()
AH 9
1 T




L

Ei(&§

\I\\

fhZe (AR01)

TH4 | RO PIRTMHAR BIR -  SEERE TF RV FRfR) FHEN Sy
THXy
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) e
[EREMNES ¢
= 1
BT
= 1
R
= 1
R
= 1
T A A A R A 2
=) 2
HomfErE (FEL)
= 1
S ¢
= 1
Bl E
= 1
LU
= 1
— M P
= 1
T AfiA%
= 1

=N

i



T ERTER (401)

TH4 | RO PIRTMHAR BIR -  SEERE TF RV FRfR) HEX S B B HERR -
THXSy H R ERE
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e

THABIRE K O 5 1 2 B4

= 1
THEE

= 1

_ g T




